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EXERCISE 6.1

1.In Fig. 6.2, ZzBAC =90° and AD L BC. Then,

el

1f-'. D i
rig. 6.2

(A) BD.CD = BC? (B) AB.AC = BC?
(C) BD.CD = AD* (D) AB.AC = AD?
Answer: C

2. The lengths of the diagonals of a rhombus are 16em and 12cm . Then, the length of the side of the

rhombus is
(A) 9¢m (B) 10cm
(C) 8em (D) 20¢m
Answer: B

3.f AABC~EDF and 4ABC isnotsimilar to 4 D E F , then which of the following is not true?
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(A) BC.EF=AC.FD (B) AB.EF = AC.DE
(C) BC.DE = AB.EF (D) BC.DE = AB.FD

Answer: C

4. If in two triangles ABC and PQR, ﬁ = B_C = ﬂ , then
OR PR PO

(A) APQR~CAB (B) APQR~ABC
(C) ACBA~POR (D) ABCA~POR
Answer: A

5.In Fig. 6.3, two line segments AC and BD intersect each other at the point P such that PA=6cm ,
PB=3cm , PC=25cm , PD=5cm , ZAPB=50° and ZCDP =30° . Then, &#x 2 ; PBA is equal

to

(A) 50° (B) 30°
(C) 60° (D) 100°
Answer: D

6. If in two triangles DEF and PQR, .p =0 and R = E , then which of the following is not true?

(A) %zg (B) RE _ EF
0 PO ~ RP

DE _ DF EF _ DE

€@ —==-> D) —=—
OR ~ PO RP ~ OR
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Answer: B

7.In triangles ABC and DEF, z.B=E , «F =C and AB=3DE .Then, the two triangles are
(A) congruent but not similar (B) similar but not congruent

(C) neither congruent nor similar (D) congruent as well as similar

Answer: B

8. Itis given that AABC~PQR , with g _ 1 , Then, " (PRO)

— , is equal to
3 ar (BCA)

(A)9(B)3(C), (D)

©lel-

Answer: A
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